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W

1. Executive Department is Jeg by
(A) Chief Minister
(B) Governor
(C) Home Minister
(D) Finance Minister

2. Nomal fange of breathing rate per minute
in an average agy;t person at rest is
(A) 9-12 (B) 15-18
(C) 21-24 (D) 30-33

3. Following is the function of stomata.
(A) Translocation
(B) Exchange of gases
(C) Protein synthesis
(D) Reproduction

4. Inindia the first State to introduce Mid-day
meals in schools is

(A) Himachal Pradesh
(B) Meghalaya
(C) Tamil Nadu

(D) Punjab

Solutions of the equation x2 +V2x-4-0
are
(A) V2,42 (B) Vv2,-2¢2
€ 0,4 (D) 0,0

Which of the following Statements g

incorrect aboyt Fundamenta) Rights 2

(A) New technologies may endangerthese
rights

®) Equalityis one of the moral and politicg

Ideals in India they are Superior to
: Ordinary laws
C) In Indj i
pomig;? rtihestsse iatre €conomic ang
n
” Const'nution €gral part of the
DIndig it g righ
ti -
T Magna

5.
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Sl e w2
(A) 9-12 (BY 15—12
(C) 21-24 (D) 30-3
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Read the following sentences about LEDs
and choose a correct option.

(A) They contain mercury

(B) Theyconsume less electricity because
they produce very less heat

(C) Both (A) and (B) are correct

(D) Both (A) and (B) are wrong

Mahila Police Volunteer systemisintroduced
in two Districts. One in

(A) Panipath
(B) Karnal

(C) Kurukshetra
(D) Ambala

If ‘SUN’ can be coded as ‘564’ then ‘MOON'
can be coded as

(A) 58
(C) 57

(B) 51
(D) 47

During 1857, Sepoy mutiny the Moghul
emperor Bahadurshah Zafar was arrested
by

(A) Captain Hudson

(B) John Nicholson

(C) Sir Hugh Rose

(D) Colin Campbell

Find the missing number in the sequence
1,8, 7, 64, 125,216.
(A) 9

(C) 25

(B) 27
(D) 16

The dance performed by women in
bridegrooms house is

(A) Rasleela

(B) Phag dance

(C) Loor dance

(D) Khoria dance

10.

1.

12.
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m@%éﬁqﬁﬁﬂ%ﬁgﬂmmaﬂt

af ‘SUN' i ‘54’ @ A ‘MOON' 3l e
m

(A) 58 (B) 51
(CY"'57 (D) 47
1857 ¥ faurl fasig & KA TS AEH

TGS S G v fepa T |
LAY FeA gSEA

(B) S fHepicas

(C) WIS

(D) hifeH She

;1??111,8,?,64,125, 216 ¥ g §&A1 I

l

(A) 9

(B) 27
() 25 (D) 16
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18. Which of the following rivers is not a| 18.

?

tributary of Brahmaputra ? e qi;il

(A) Kameng | (A) it

(B) Subansiri (B) gt

(C) Dihang (©)

(D) Subarnarekha ©) ¥ -

; ~ 1873 l

19. Haryana has Districts as on | 19- Fhmn H 2017 _

2017 - 18. A 22 (B) 25

(A) 22 (B) 25 , "

(C) 24 (D) 28 (C) 24 (D)

| | ' S Ul |

20. 'Following is not a part of neuron. 20. ﬁq%rﬁqﬁ RIEGIRIASS R

(A) Collecting duct (A) %w{!ﬂﬂ” el

(B) Dendrite (B)

(©) Cell body (C) e R

(D) Nucleus | (D) hEeh

21. Read the following statements and choose [ 21. fmfaRad wuAl ! 9ie 3R 39gad qﬁrq |

the appropriate one.

A) W § fava ¥ gt dfswa s
(A) Indiahas the largest number of medical .( )

colleges in the world. ; g

(B) India is the fourth largest producer of (B) s fowa 3 ganati 1 <hen wew w9
medicines in the world and is also a i
IATEH R T g1 fatas
large exporter of medicines. 7 21

(C) Both (A) and (B) are wrong (C) (A) 3R (B) <! Tera &
(D) Both (A) and (B) are right (D) (A) af B) e o %

22. Kapidhvaja is another name for 22, Sty

(A) Krishna (B) Balram (A) W—___W@TIW% l
(C) Arjuna (D) Karna ©) Eﬁiﬁ (B) ;qu
(D)
23. A small, palm heid drum is called as 23 WW@%@[ .
‘ q
(A) Dolak (B) Mrudangam FEAT § | Waﬁw@w
(C) Tabla (D) Damry Eg; gl (B) g™
24, Fi:d the word which is different from the | 24 S (D) su®
other 3 options given below. 3 BIGESEE) : 3
(A) Nepal (B) Bhutan A) Yore ﬁq“?m A=y
(C) Pakistan (D) Manipura ( (B) swm
C) withemy
. (D) qﬁ'lg{
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13. Match-the plant structures given i.n the
Column — A with functions given in the

Column - B.
Column-A Column-B
|. Stomata 1. Absorption of
water
Il. Xylem 2. Transpiration
ll. Root hairs 3. Transport of
food
IV. Phloem 4. Transport of
water
5. Synthesis of
carbohydrates
Select the answer code.

A) 1-2,11-4,11-1, V-3
B) 1=1,1-4,11-3,1IV-2
€ 1-1,1-4,11-2,IV-3
©) 1-51-3,-1,1IV-2

14. Harshavardhana ruled Thaneswar during

(A) 606-647 AD (B) 400-350BC

(C) 200-250AD (D) 250 - 150 BC

15. State flower of Haryana is

(A) Jasmine

(B) Sacred Lotus
(C) Rose

(D) Hibiscus

16. PREW means

(A) Population Regulations En
Wing

(B) Panchayath Raj Economic Wing

(C) Panchayath Raj Engineering Wing

(D) Power Rules Effective Wing

gineering

17. Which among the followi

British company agents
(A) Kolkata
(C) Madras

ng cities in which
Settled in first 2
(B) Bombay

(D) Kocchi

W

13, e AT Ry dd & e E Hier - B

14

15.

16.

17.

A A A S AR A

% Ru e wd @ ey |
T - A HicH - B
| Y 1. SICTEIS
Il e 2. AT
0. <t % AW 3. ¥ A
g
V. wT 4. S H1 TR
5. FHETEESE HI
GTASUT
I g I |

“(A) 1-2,11-4,1i=1,IV-3
B) 1-141=4,1M-3,1IV-2
@) 1-1,01=4,1-2,IV-3
(DY 425, 11-3,1=1,IV-2

AT A YHTR | &+ T T
fora |

4A) 606-647 AD (B) 400 - 350 BC
(C) 200-250AD (D) 250 - 150 BC

BT it T g R
(A) =it i
(B) =we

(C) T

(D) T

PREW 7 3o} &
(A)

ngulation Regulatio

Wing ns Engineering

(B)
(C)

(©) Power Ryjes

”a"@'ﬁﬁ%{q ; :
el TR H ffey soefy 3
) T g 7 N
©C) wEm

3] Engineering Wing
Effective Wing

(B) ==y
(D) et
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33. Under GST, which of the following goods or | 33, ﬁﬂfi‘*@ﬂﬁﬁ‘ﬂ?—@ﬂm HATHq GST 3 g
items are exempted or NIL tax rate or 0% §e g NS 0% FTHA & 7
is charged ? 1. GHRT A |

1. News papers _ 2. HFH AR o
2(;- };“”k“m E::ln:: B:tn d:1d vegetables oy W Wikl iry
. Toc_:esse ruit a . g _ 4. Ty Fie AR @rdt g
4. Silk worm and khadi yarn .
v 5. IAdREEH
5. Spacecraft afic
(A) 1,3and 4 (A) 1,33R4
®) 1,2,3and 4 B) 1,2 334
(C) 1,2,4and5 (C) 1,2,43R5
(D) Allthe above (D) 3% |t |
34. Which among the following countries with | 34, Fr=ffaa ® @ fora 331 % WY RA 1 g
which India does not have Free Trade R ?
Agreement (FTA) ? Wf{ﬁi ; o
(A) South Korea (B) Japan (A) alaT (B)
(C) Brazil (D) Thailand (C) wshie (D) T3
35. Jagirdars means . 35 STTRER &1 oAof ®
(A) Bankers (B) Landlords (A) S (B) sHiTR
(C) Agriculturists (D) Businessmen (C) 9= (D) HAER
36. Saltrees are found in 36. I q4_ U S & |
(A) Gurgaon forests (A) T & 99
(B) Sonipat forests (B) @Ffiud & a9
(C) Rohtak forests (C) VsaF ¥ 99
(D) Kalesar forests (D) FOR ¥ a9
37.  Find the number which not like th | ] } ¢
Soptions Ike the other | 37. %G@nmaisﬁaﬁaﬁmgm%l
(A) 3 3 2
®) 5A4 ® %s W ® ¥,
C 7
(€) /20 (D) 48 (C) % 5 D) %8
38.  Anumber consists of 2 digi i |
. gits whose s - ; .
4, If. 18 is added to the number, the g:;t': % @H@Tﬁam%ﬁww 43 Iqﬁ"ﬂ@?ﬂ
getjinterchanged. Then the number is - ﬁ 18 31 fea ST Y 3T & Chp\eret
(A) 31 i A TE T L
(B) 22 (A) 31
(C) 13 (B) 22
(D) none of these (G 13 3
©) T3 38 7 '
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25. Altaf Hussain Haali is famous for his
(A) Dohe (B) Sonnet
(C) Poetry (D) Mushairas

26. Two coins are tossed simultaneously. The
probability of getting exactly two tail is

A 1 ® Y
© Y o Y

27. Tangri river is the tributary of
(A) Sahibi (B) Indori
(C) Markanda (D) Ghaggar

Resistance of a metal wire of length 1 m
is 26 Q at 20°C. If the diameter of wire is
0.3 mm, what will be the resistivity of the
metal at that temperature ?
(A) 4.84x10°5Om
(B) 3.84 x10°*OQm
(C) 2.84 x 10 Qm
(D) 1.84x10°°Qm

28.

29. Which of the following natural resources is

referred as ‘buried sunshine’ ?
(A) Gold (B) Silver
(C) Coal (D) Shale gas

30. If5tanc = 4 then 25N —3cosa, .

: is
Ssine + 2cos o

equal to
1
- 5
A 6 (B) =
@ = ©) o

Vedic civilisation flourishe
river

(A) Sarasvatj
(C) Yamuna

31.
don the banks of

(B) Ganga

(D) Kaveri
32.

(A) Flourine
(C) Bromine

loring

29,

30.

31.

32,

At

/ A AT AN A
. 3TedT goH BTl ¥ RuyfRiE? |
N (A) aﬁ%@q (B) @S
(C) e (D) FRIRRI
26. aﬁﬁ@mamﬁml%ﬁ | 31 9¥ |
T Y i STRieRar 8
(A) 1 ® Y%
© % o Y
. o i T FEF A |
“ (A) @fesit (B) 8
(C) "THS (D) TR
28, 1 Y. TS % U UTg F AR HT FhaY 20°C

W 26 Q ® | 9fe aR & =@ 0.3 fa At gt
3G A9 R YT Y SfoRiershar 1 gt ?
(A) 4.84 x 10 Om

(B) 3.84 x 10-° Om

(C) 2.84 x10° Om

(D) 1.84 x10¢Om

frefofaa 3§ & frg wrpf ‘

T g & 7 ST & A ‘el g

(A) Iﬁ:ﬂ (B) a-'i'zﬁ. 44‘?"%;
K&KA

A 5 tana = 4 7y 2SN - 3cosa

e 2 Ssina +2cosa _
A 1 5y
6 ® I>
(C) 2 ©) o
ifRw
Wm____qﬁ%iﬁﬂﬁqﬁﬁ_w%]
(A) ey B o
o W D) G
— W
A ety O T M S g
©) snfg (B) Tory
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44.

45.

46.

47.

48.

49,

When object s placed at center of curvature
of a concave mirror, the image size is

(A) Enlarged

(B) Diminished

(C) Same size as that of object

(D) Point-sized

Haryana Assembly House is at
(A) Rohtak (B) Ambala
(C) Chandigarh (D) Panipat

Which of the following is not a right
difference between democratic and other
forms of Government ?

(A) In Non-democratic States don’t not
require all citizens to take part in
politics. '

Both forms have universal adult
franchisee, i.e., one vote and one

. value.

(C) Most non-democratic Governments

would like citizens not to take part in

politics.

Democracy depends on active political

participation by all the citizens.

(B)

(D)

The zoo had some Lions and some Parrots.
The keeper counted 15 heads and 50 legs,
then the number of Lions is

(A) 9 (B)n10
(C) 8 (D) ‘none of these

All circles are

(A) congruent
(B) similar

(C) cyclic

(D) none of these

If x2 - x - 42 js divided by x + 6, the
remainder will be

(A) 7

(B) -8

(C) o

(D) none of these

4/2018 (1) (E10)

44, 9 ] FY TF A T4k Tl $F W

45.

46.

47.

48.

49,

(A) Iftha

(B) ®ETEA

(C) g F T &
(D) fog % PR

g faem e .

(A) Uga (B) IHaTe

(C) (D) wHIgd

ﬁm%lﬁaﬁﬁaﬁq—maﬁﬁfﬁmaﬂtw_

% 31T T o T Gal AR TS 8 7

(A) M-drsdifes Tt §, TSI # 9o
1 gt ARt & i emavas T |

bl

' AB) T &G H e guees TR

FT U A UF A & |
AC) waiferh STefrshaifye Tt amed & fr
TR TS F wfesafiven 7 +:¢ |

D) e gt it g afr T
fcsfirar @ ke

T Fefeamen & e 9 ok 9y & | TETH
ﬁ15fﬁtaﬂtsozﬁﬁﬂlﬁﬁa‘%‘ré@1%

(A) 9 (B) 10
©) 8 (D) &9 & =¥ 7

, PYL -
H“ﬂ?ﬁ.ﬁ____iﬁ?f%l 50 e,
(A) Tafmog >
(B) gH®Y
(C) =him
(D) 378 A =S 4
Hﬁx?—x-@ﬁx sﬁﬁmﬁa ]
¥ Svww e s
(A) 7
(B) -6 ‘)l\/-’Ja
©) 3 ¢ 1 Bth
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39. Campaign against female foeticide is | 39. =T Y0 &1 ¥ faes Sk

(A) Yatra Scheme (A) A AT
(B) Bhagya Jyothi (B) mﬁ%ﬂﬂ_ %__m_ At et
(C) Beti Bachao, Beti Padhao (©) ’ e ,,
(D) Lady Police Scheme (D) wfeen gfer & B |
: sy et fad & e # Fefefeg |
40. Consider the following statements with |  40. i =
reference to Constitution Amendment Bills. ol W fa=R .
: GIRISIRIC )
1< It can be introduced by the private 1, ﬁﬁﬁm%ﬂ%ﬁﬂ&wﬂd
Members of the Parliament. 5
2. The President cannot disagree over 2, Treeufd 36 W FHEHA T &1 Tehel, e
it, he can only send it back once for mﬂ@ﬂzwm forg et gehat &L
.reconsideration. st PA-TER Y ?
Which of the above is /afe correct ? ¥t
(A) 1only (A) 1
(B) 2only (B) i 2
(C) None © R
(D) Both1and2 (D) 13 23M]
41. The famous Patriotic song, which stirred the | 141, E=RE) ,ﬁ_mu_mﬂ#%wﬂ T S Y d.mwm._mmw_
common people of their nationalism during

T & R 3] 1 .
freedom movement , “Sare Jahan Se Achha K BILE w&ﬁw_/ﬂ T ‘e

: Hindustan Hamara” was written by Wﬂ@@ ] Wmﬁﬁﬂ THIT I i
(A) Mirza Galib & w_u% _
(B) Mohammad Iqbal Amv e
(C) Rabindranath Tagore (B) Hirgre I
(D) Sadaat Hasan Manto MWW ﬂ_ﬁ_ﬂﬂﬁ M..H_w%
aE
42. |f Al 3is a zero of polynomia 2
P(X)=2x243x_3 th : 5 m_mﬂm_ﬁ =
S athen value of 3 jg lwwﬂm%mﬂwwmxw+wxlwmmﬂﬁ4@
(B) -1 (A) 2
© o (B) -1
D) 3 AOV 0
43. The solyj D) 3
B w ,Vhw_o:m of system of €quationg
Y=0.V6x+i5y . 8. Bk
(A) x=y3 Y=0are Y=0,6
Y= kLS *+ 18y = 0
(B) x=0,y=4 4 "
(©) no solytion @ x< V2, y=45 AR IS ATo)
(D) infinj i ®) x<q,y_ Anthicy 1o
. te Solutiong ©) ﬁm VY=
w T
©) s ™ 3+
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56. The eldest son of Pandavas is
(A) Bahudhanyaka
(B) Yudhishthira
(C) Priotpathi
(D) Angeerasa

57. If 12October was Monday, then 11" October

lies on

(A) Thursday
(B) Friday

(C) Wednesday
(D) Monday

58. Consider the following statements regarding
Himalayan mountains and its rivers and
select the right one.

(A) The Himalayan mountains are young,
weak and flexible in their geological
structure

(B) Himalayas are dissected by fast-
flowing rivers which are in their
youthful stage

(C) Both are wrong

(D) Both are right

59. The pointon x-axis which is equidistant from
the point (7, 6) and (— 3, 4) is

©) (-4,0) (D) (3,0)

60. The age of father is 5 times that of his son.

3 years ago, the age of father was 8 times

that of his son. Find the present age of
father.

(A) 42 years
(C) 40 years

(B) 48 years
(D) 35years

61. Haryanahas
divisions.
(A) 5

(C) 4

main geographical

(B) 6
(D) 3

-11-

56.

57.

58.

59.

60.

61.
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(A) TEUEE

(B)

(C) =

(D) i

2t 1o s dC 8, 110 SR
@ ﬁ"‘i g 4+
- (A) TeaR |

(B) AR

(C) 98ar

(D) EFER
femrera o ofit sET Al & w9 A
frferRaa FA o T o o w A |
(A) Frem vda gaT, HES IR AT

{Tivten GoerT # it @
(B) Tewmera =1 A siedt Al § HRe-Bie
e S FaERT A R
(C) B TTeTa &
(D) = Tl B

' 4
x4l W 7% g <t fig (7, 6) ol (- 3, 4) 3
ERECE R rE °\

+

(A) (-1,0) (B) (2,00 ~pa-'L

€) (-4,0) (D) (3,0) 5

ot 61 ST 1 Y 1 ot B | g S,

T foem B oy g 6 sy o 8 ot |

foren ot o g 2 AT YD

(A) 423d (B) 48 ¥ B
2 1.

(©) 0= (D) 353§ &
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50.

51.

52.

53.

S5.

- Find the missin
for MN, JQ, GT?;?E,(;);% the options
(A) EW ® bw
(C) EX D) DX
The equation 3y _,, _ ..
9% - 3y 4 ¢ =3)i(fc,_— Sis samg as
(A) 15
(B) -15
© -10

' nate
Recrystallisation of sodium carbo

gives

(A) Baking soda

(B) Washing soda
(C) Bleaching powder
(D) Plaster of paris

The combination of certain Janapada were
called as
(A) Mandal
(C) Gana

(B) District
(D) Hobali

Read the following descriptions about types
of biomes.

1. Grasslands of South Africa are called
Velds.

2. Grasslands of North America are
called Prairies.

3. These both are temperate grasslands
biome.

Select the right answer given below.
(A) 2only

(B) 1 only

(C) 3only

(D) All the above

Mahabharatha has

—— Chapters.
(A) 18 ®) 20 8
©) 22 (D) 24

(D) none of ‘hesa

-10.

50

m@ﬂmﬁﬂwﬂ_h

(C) ™ |

52, i 3y Sy B Pt e i |

S3.

54,

S5,

\ afe s mTE AT Ao
FEad 8 | _

2, Fudt fT 1 TTE frET Sty
FEA S |

3. 4 @HI s sfeaeia g Y arim
&1

e o e e s g |

(A) sae 2

(B) ¥ 1

(C) %aw 3

() 3w

HRTMI 1 .

(W) 19— I=™E

(C) 22 (B) 20

- (D) 24
'JQ,GT,?,AZ

ORI ()

(A) Ew

C) Ex (B) Dw

%3::("" 03 (D) .Dx

%qﬁca hyzs,gxhg’i’:rs-

(B) i

(C) -..10 3‘1-—— y l g’
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| English Language

Change the given sentence into indirect | Pick out the wrongly spelt word.

speech.
73. (A) Intrinsic

69. The teacher said, “| am busy now". (B) Incongruous
(A) The teacher says that he is busy - (C) Impurturbable
now (D) Intermittent

(B) He was busy says the teacher now.

(C) The teacher told that | was busy now.

(D) The teacher said that he was busy
then ;

74. (A) Pedantic
(B) Irretrivable
(C) Plenary

' (D) Reticent

70. | said to the boys, “You should do your -
duty”. Choose the correct options.

() ;) okl hoboysthattheg chauld et el 75. |decided to stayathome last night. | would

e have gone out'if | so tired.
(B) |told the boys that you should do your (A} hadnt been

duty.
ity (B). wasn’t
(C) 1ordered the boys that they should do (©) weren't
your duty. ' .
’ (D) | said to the boys that you should do L) wouldn't have been
their duty. 76. | notified | had changed my
Choose the correct form of the verbs. aadpess.
. (A) to the bank that
71. There is a programme on television that (B) with the bank that
| want to watch. in five minutes. (C) the bank that
(A) It must start (D) that
(B) Itstarts ' ‘
(©) Itis starting : Fill up the blanks with appropriate prepositions.
(D) Itstart , . 77. Ourflatis the second floor of the
. 72. Tom his hand when he was cooking bullding.
i the dinner. ") by (B) at
t- (A) have bumt (€) on (D) in
F (B) was buming 78. | prefer tea s
’ (C) burnt (A) not | B) to
(D) is burning (C) than

(D) against
-13-
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62. Four cubes each of side 5 cm are lcﬂl?i?tg m ¥ rq.r(m;ﬂzﬁ'a ® 20 cm? -
end to end. The surface area of the res i g o |
solid is 5 20" A igo e (D)
(A) 225cm? () ) 2 |
(C) 450 cm? (D) 500 cm* . @q_m@gmat oft sATET
63. Which of the following form an AP ? 63. ) 1122 3, 33:3- L |
A 1,1,22383... @) 03,03% 0.33 |
(8) 0.3,0.33,0.333, ... : |
1 1 1 (C) —y ! =’ |
© g = ?4;5 - |
D, 8 V1% VT
(D) JEHJE. Jﬁ!@"" (D) GFPE% "éﬁTG?Q?'X, ‘X'ma-{gi‘.—}-ﬁ
g4. If '+ means ','~ means ‘X, ‘' means +'| 64 q;#,:; o7ef ‘_: g, @i12x 4+12+5-3=
and = means ‘+ then, 12x 4 +12 +5-3= ) *4 (B) 15
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1.

mxm0c=<m Umvmz_ﬂm

ntis led by
(A) Chief Minister

() Governor
(C) Home Minister
(D)

Finance Minister

U@—.WOJ at rest is
e & (B) 15-18
© 2124 (D) 30-33

ﬂo__oe_s:@ is the functio

n of stomata.
(A) Translocation

(B) mxosm_._mm of gases
(C) Protein synthesis
(D) Reproduction

In India the first State to introduce Mid

-day
meals in schools is

(A) Himachal Pradesh

(B) Meghalaya

(C) Tamil Nadu

(D) Punjab

Solutions of the equation x2 +2x—4 =@
are

(A) V2,42 (B) V2,-242

) 0,4 (D) 0,0

Which of the following statements is
incorrect about Fundamental Rights ?

(A) New technologies may endangerthese
rights

Equality is one of the moral and political
ideals in India they are superior to
ordinary laws

In India these are economic and
political rights integral part of the
Constitution .

In India itis rightly described as Magna
Carta of India
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